Rakurogue (SOLUTION)

First, solve each Kakuro grid. In each grid, you’ll find a single 9-number clue that uses the numbers from 1 to
9. This allows you to determine which numbers map to which letters. For example, in the BAG OF TRIX
answer, B=3,A=1, etc.

Three squares in each grid have small numbers from 1 to 12 in the top left. Place the appropriate letters in
those spots to spell out the Kakurogue’s objective: TAKE THE CROWN.
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BAG OF TRIX DESPACITO
2" letter 1= A 1% letter 1=T
5" letter9=T 4" letter4 = E

10" letter 6= 0 8" letter3=C
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HYPERLINK

4" letter4 =E
6" letter 1 = H

8" letter 3=C
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7" letter 6 = E
9" |etter 5 = R

11" letter 8 = W



